| ——

IFE 754 AXA7—/\HEY BT®-FMH®-6-L

FACE MILL ARBOR (Type H)
GED L H
Ki
wi Wi
/E, . _ \
—————— = sl T <l (3 @
\ A | v
gl i |
CODE n
MODEL or P FIG. oD(E) L ®C1 H Wi K1  Gf R
"FMH16 35 | 10014 201030 16 3 29 16 8 | 5 3-02
BBBT'I:?‘(;)O 3 .37 -35 10016 201032 | 16 | 35 | 37 |16 8 | 5 | M8x30 PCD.¢12
FMH22 47 -40 | 10018 201034 2 | 22 | 40 47 18 10 | 5  M10x30 3-03P.CD.016
CFMH16 29 -60 | 11940 240800 60
3 1105 | 11942 240802 16 o5 22 16 8 | 5 | M8x30 3-02
CFMH16  -37 -60 | 11944 240804 60 PCD.012
3 1105 | 11946 240806 16 o5 37 16 8 | 5 M8x30
BT40 FMH22  -47 -60 | 11948 240808 60
BBT40 | 1105 | 11950 240810 o | 105 47 118110 | 5 | M10x30 3-63
"FMH22 60 -60 | 11952 240812 60 PCD.016
3 -105 | 11954 240814 105 | 60 | 1810 | 5 M10x30
"EMH27 60 -60 | 11956 240816 60 3-035
3 1105 | 11958 240818 27 o5 60 201 12 1 6 | MI2X35 | poh 5195
"FMH16 29 -60 | 14540 270940 60
: 105 | 14541 270941 105 | 29
; 150 | 14542 | 270942 150 500
EMH16 37 -60 | 14543 270943 16 | 60 16 8 | 5 .
‘ 1105 | 14544 | 270944 105 | Mg 30 PCD.012
150 | 14545 270945 150
: 2200 | 14546 270946 200
EMH22 47 60 | 14547 270947 60
i 105 | 14548 270948 105
150 | 14549 270949 150 | 47
200 | 14550 270950 200
: 2250 | 14551 | 270951 250 3-63
"FMH22 60 -60 | 14552 270952 22 g0 1810 1 5 MI0X30 ' op 516
! 105 | 14553 270953 105
150 | 14554 270954 150 | 60
2200 | 14555 270955 200
: 2250 | 14556 270956 250
"FMH25.4 60 -60 | 14557 270957 60 3035
BT50 105 | 14558 270958 254 | 105 | 60 (22 95 5 o s
BBT50 | 150 | 14559 270959 150 L0186
"FMH27 60 -60 | 14560 270960 60
1 105 | 14561 | 270961 105
150 | 14562 270962 150 | 60
2200 | 14563 270963 200 M12x35
; 250 | 14564 270964 by | 250 0l 12 | 6 3-035
"FMH27 76 -60 | 14565 270965 60 P.CD.$19.5
1 105 | 14566 270966 105
150 | 14567 270967 150 | 76
200 | 14568 270968 200
; 2250 | 14569 270969 250
"FMH31.75 -76 -60 | 14570 270970 60
1 1105 | 14571 270971 105
150 | 14572 270972 150 | 76
200 | 14573 270973 200 M16x35 3-04
; 2250 | 14574 | 270974 3175 o5 30 1127 7 P.C.D.¢24
"FMH31.75 96 -60 | 14575 270975 60
1 105 | 14576 270976 105 | 96
3 150 | 14577 | 270977 150
1. WEAN—HRSH Y AR T LA RAINTF—NTT, T3] ORDERING EXAMPLE

2. hy BFEDHIFBI SV TRV MNIABLTVET,

3. B M12.M16) DT 5> 7RIV M PEE LEVEEIE. ﬁ@ __

P.86MY Z> 7RI hR(MBH-M12.M16) &V BIEBRV < 720N, D v sPLX e

4. BBTIEZFAERTY @ WFFR Holder's Name
NOTE : 1. Face Mill Arbor for cutters with OH hole. ® 4 >O—&FeD oD

2. Clamp bolt for fastening cutter is included. @ PR oC1 oC1

3.When included clamp bolt (M12, M16) does not fit, please choose suitable ® GLEX L G.L. Length

MBH-M12, M16 bolt from the clamp bolt list on page 86
4. BBT shank type is made-to-order.

] ——

BT series




solles 1 g

85

EHISAA7—I\A7 otV

ACCESSORIES for FACE MILL ARBOR

X

7otvy

IEATSAA7—I\BISVTRILE

CLAMP BOLT FOR FACE MILL ARBOR

oC1
G

2C1

2C1

Ls,
L1 L2 ) L3
L
MODEL CODE  FIG. oC1 oC2 L2 L3 G ARBOR CODE

MBA - M 8 49771 20 | 15 | 23 14 | 9 | 7  M8xP125 FMA22.225 SMA16
MBA - M10 49772 28 | 18 | 27 | 16 | 11 9 | MI10OxP15 SMA22 SMB22.225
MBA - M12 49773 | | 33 | 23 | 30 | 18 | 12 10  Mi2xP175 FMAB254 FMB27 SMA27
MBA - M16 49774 40 | 23 | 40 | 24 | 16 | 10 | M16xP20 FMA3175 SMA32 SMB31.75
MBA - M20 49775 50 | 27 | 50 | 30 | 20 14 | M20xP25  FMAB38.1 FMB40 SMA40 SMB38.1
MBA - M24 49776 65 | 37 | 59 | 35 | 24 | 14 | M24xP30 FMA50.8
MBH - M12 49691 , ¥  — 38  —  — 10 Mi2xPi75 FMH25.4 FMH27
MBH - M16 49692 40 | — | 45 | — | — 10  wmiexP20 FMH31.75




